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-3.1: NotAvailable

-NT: $120.00

-95: $120.00

-98: $120.00
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-Home: $120.00

-Server: $1200.00

-ME: NotAvailable

-XP: NotAvailable

+Linux

il

-0: Red Hat

-1: Debian

-2: Mandrake

-0: FreeBSD

-1: AS400

-2: 0S/2
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-0: Apple

-1: Pear

-0: Carot

-1: Salad

-0: Chicken
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— [Node: Operating Systems]

— [Node: Microsoft Windows]

|— [Child: NT = <§120.00>]

I— [Child: 95 = <$120.00>]

I— [Child: 98 = <$120.00>]

[Node: 2000]

— [Child: 3.1 = <NotAvailable>]

[Child: Home = <$120.00>]

[Child: Professional = <$320.00>]

[Child: Server = <$1200.00>]

[Node: Linux]

— [Child: 0 = <Red Hat>]

— [Child: 1 = <Debian>]

L— [Child: 2 = <Mandrake>]

— [Child: 0 = <FreeBSD>]

|— [Child: 1 = <AS400>]

L [child: 2 = <0S/2>]

L [Node: Food]

[Node: Fruits]

— [Child: 0 = <Apple>]

L— [Child: 1 = <Pear>]

— [Node: Vegetables]

— [Child: 0 = <Carot>]

|— [Child: 1 = <Salad>]

'— [Child: 2 = <Bean>]

— [Child: 0 = <Chicken>]

L— [Child: 1 = <Hamburger>]

— [Child: ME = <NotAvailable>]

'— [Child: XP = <NotAvailable>]
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